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I 'x mwn: pamn moa
a  Fruit of trees: »"naa (exception — wine: 3"na1)
b Fruit of ground: X"na1 (exception: bread-r'xnn)
i Vegetables: R"noa
it Dissent: nmn’ "3 (who has far more specified m>71) — wRWT 20N M2
I Sources for 11010 M3 ("n°1a% N271”)
a w77z v. 1 (in re: 'p17 DI2/Y0I) — DNYN= N2
i Challenge: that word is needed for two implications:
1 558 7771 750N must redeem it before eating
2 vy nyvn 127 (as per v2): requires NN
ii  Possibility: according to opinion that *ya7 01 is taught (i.e. applies to all fruits) — ok
1  And: even according to opinion that >»171 073 is taught
(a) If: he accepts »a7’s w1 (NR1AIN:ARIAN, VV. 3-4) - one %190 remains for 272
(b) Block: even if he accepts w"n — we only know nnr> 1372 — how do we know panin nava?
(i) Answer: we could infer that via 1p — if you bless when full, v"p when hungry
(c) But: we can only apply this to grapes —how do we expand it to all foods?
(i) Suggestion: AR 112 —just as D73 is a source of NRIN, so all sources of NRIN
1. Block: ©73 is unique as it has m>%y 2vn (one of 0”1y Minn)
(if) Suggestion: learn it from grains stalks (where n571 is alluded — n ©»aT)
1. Block: grain is unique — n>n arn
(iii) Resolution: can use nmwn T¥ — to expand to all foods
1. Block: 73 and nnp share a unique characteristic — both used on nam
a. (and: that would also include olives)
i.  Block: olives are included anyway via v. 5
ii.  Rejection (97): an olive grove is a m’r 093, not a “n1y”
(iv) Suggestion: learn from 7 m1n (associated with 1372 - n 0a7)
1. Block: they are all liable for 11273, unlike other foods
Final answer: it is a X120 — prohibited to get benefit from this world without a n272 first
¢ Related nn»772 prohibition of benefiting from this world without a 1372 = n%yn (vv. 6-7)
i N99 92 820 77 it is as if he stole from n”apn (father) and »"013 (mother) as per vv. 8-10
ii 99 72 8221 77 resolves contradiction between vv. 11-12 — if 11 are fulfilling 'n’s will, others do their work
1 an73xv. 13 requires a balance of YR 717 30 (ORYRWY 1 NVIWY);
(a) Counter:»"av1 —no way to master study if working — v. 14 will happen if we do 'n’s will, else —v. 12
(i) Worse: could be v. 15 (where we work for others)
(ii) Support: for YRynw M nvw (from »aR, R17's words to his students, 11N " ascribed it to
downspiraling of generations)
1. Example: earlier generations would go out of their way to generate mawyn 21n, now they try
to find ways to exempt it (vv. 16-17)
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